

Additional Funding Request

MD002	CSS 26454 WO 14173											
Description of Repairs	Labor and materials to replace 20 bulbs and 3 emergency ballasts.											
Diagnosis: Initial Work Order	8 T8 bulbs, 1st fl hallway Bldg 001.											
Diagnostic Fee	<p>\$ 160</p> <p>Labor \$80/hr x 2</p>											
Additional Labor Cost to Perform Repairs	<p>\$ 400</p> <p>Labor \$80/hr x 5</p>											
Additional Material Cost to Perform Repairs	<p>\$ 193.29</p> <table border="1" style="width: 100%; border-collapse: collapse;"> <tr> <td style="width: 50%;">LED Bulbs</td> <td style="width: 15%;">20</td> <td style="width: 15%;">11.23</td> <td style="width: 20%;">224.60</td> </tr> <tr> <td>Fluorescent Battery Pack</td> <td>3</td> <td>185.85</td> <td>557.55</td> </tr> </table>				LED Bulbs	20	11.23	224.60	Fluorescent Battery Pack	3	185.85	557.55
LED Bulbs	20	11.23	224.60									
Fluorescent Battery Pack	3	185.85	557.55									
Total Cost of Repair	\$ 1342.15											



WORK ESTIMATE

CSS #:

26454

Work Order #:

14173

Emergency

Urgent

Routine

Company Name:	Tidewater, Inc.		Facility ID:	MD002	
Contractor POC:	Adam Cology				
Telephone No:	740-819-6207		Building/Location; (e.g., Classroom/Room #)		
E-Mail Address:	adam.cology@tideh2o.net				
Assigned Technician(s):	John Brown				

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to replace 20 bulbs and 2 emergency ballasts.

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Diagnostic			2	\$160.00
Linear LED Bulb	20	\$11.23		\$224.60
Fluorescent Battery Pack	3	\$185.85		\$557.55
Labor			5	\$400.00
SUB-TOTAL COSTS:		Materials Total	\$782.15	Labor \$560.00
		TOTAL	\$1,342.15	



EXIT

106

EXIT



← Cart

[Submit Order](#)

My Products

[Reference Information](#)

LITHONIA LIGHTING



Power Sentry(R), Electronic, Fluorescent Battery Pack, Input Voltage 120 to 277V AC

Item # 5YA45



Qty

3

Total

\$442.50

Your Price \$147.50 / each

Availability

Expected to arrive Tue. Jun 08.

[Remove](#)

GE CURRENT



Linear LED Bulb, UL Type A, T8, Medium Bi-Pin (G13), 5,000 K Color Temperature, Lumens 2050 lm

Item # 467W20

Qty

20

Total

\$178.40

Your Price \$8.92 / each

Availability

Expected to arrive Tue. Jun 08.

[Remove](#)

Delivery Method

 Shipping Pickup

Shipping Address

[Change](#)

Johnny Brown
 Tidewater inc.
 740 Trenton Ave, Severna Park, MD 21146-3908 USA

[+ Add Recipient](#)